FgArea: [0 ]
NC11 G3-2
2025-06-05 (Day 24)




1200 ~

1000 ~

800

600 -

400 ~

200 -

Vi
Vo

tt

>N

10 15

20

1200 ~

1000 ~

800 -

600

400 -

200 -

1 VN

10 15

20

——

1 0IR

1200 ~

1000

800 -

600

400 -

200 -

o 1 VI vs Du

200 400

600

1000 1200

DU

800

1400 1600

0. 80

FR

25.0

120 -

100 -

80 -

60 -

40 -

—@— 1 setVI

10.0
d
1 (fgArea = NA)

12.5 15.0 17.5

200 22.5 25.0

5500

5000

4500

4000 -

3500 -

3000

2500

2000

1500

—@— ECI*10%
=0 ECO

20

1200 A

1000 ~

800 -

600

400 ~

200 -

Vi
Vo

tt

1200

1000 ~

800 -

600 -

400 -

200 -

- 2 VN

15.0

17.5 20.0 22.5

1200 A

1000

800 -

600

400 -

200 -

[ 2 VI vs Du

o®
Qo

200 400 600

1000 1200 1400 1600

DU

800

- 2FR

25.0

110 ~

100 ~

90 ~

80 A

70

60 -

50 -

40 -

—@— 2 setVlI

10.0

1225 15.0 17.5 20.0 22.5 25.0

d
2 (fgArea = NA)

3500

3000 -

2500 -

2000 -

1500

—@— ECI*10%
-0 ECO

10 15 20

1200 1 —@— Vi
—o— 0
1000
800 -
600 -
°
'Y
400 -
200 -
0 T T T
5 10 15 20
d
1000 4 ~®— 3 W
800 -
600 -
400 -
200 -
'Y
0 T T T T
5 10 15 20
d

1200 -

1000

800 -

600 -

400 -

200 -

® 3Vl vs Du L

1000 1200 1400 1600

DU

200 400 600 800

0. 80 A

0. 75 -

0. 70 A

0. 65

0. 60

—— 3 FR

25.0

120 -

100 -

80 -

60 -

40 ~

—@— 3 setVl

10.0
d
3 (fgArea = NA)

1225 15.0 17.5 20.0 22.5 25.0

3500

3000

2500

2000

1500 -

—8— ECI*10%
-0 ECO

20

1000

800 ~

600

400 ~

200

1000

800 ~

600

400 -

200 -

- 4 WN

12.5 15.0 17.5 20.0 22.5

1000 ~

800 -

600 -

400 ~

200 -

® 4Vl vsDu °

1000 1200 1400 1600

DU

200 400 600 800

1 —e— 4FR

25.0

100

90

80 -

70

60

50 -

40

30 A

—@— 4 setVI

5.0 7.5

10.0 12.5 15.0 17.5 20.0 22.5

d
4 (fgArea = NA)

25.0

5000

4500

4000

3500 -

3000 -

2500 -

2000 -

1500 ~

—@— ECI*10%
-0 ECO

15 20



—@— PHI*10%
—0— PHO




Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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G3-2

BfE) | GEBERTIC (7)) | EBRE (EA/#K) | EREE (B/R) | X8 R

06:35 121 80. 0 1.728 5| THR@06:35 KRENFERF (RFA1RREEED)
07:35 121 80. 0 1.728 5| TiHe07:35 REFEF (KEAERSE)
08:35 121 80.0 1.728 BH| FnHAe08:35 K4ANF2F (KRHAfEREE)
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14:25 121 80.0 1.728 FR| FhHR@14:25 RHMIEF CRAKZESR)
15:55 121 80.0 1.728 FA| TnHR@15:55 RHAMIEHF CRALESR)
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42.0 -
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40 -
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38 - 41.0 A
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40.0 -
400 600 800 1000 385 390 395 440 445 450 495 500 505
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G3-2

BrE) | GEBAK @) | ERE(EH/R) | EREE (F/R) [ XS R

06:30 118 80.0 1.728 5| {Ri%@06:30 B3 (FAMERSE)
07:30 118 80.0 1.728 = {RRi8007:30 B (RFAEEE)
08:30 118 80.0 1.728 = {RRiB008:30 Bz (RFAKEE)
09:30 118 80.0 1.728 5| {Ri%@09:30 Bz (FRAMERSE)
10:30 118 80.0 1.728 = {Ri%@10:30 B3 (RAERSE)
11:30 118 80.0 1.728 =l RRiB011:30 Bz (REAKEE)
12:45 118 80.0 1.728 E| {Rig012:45 B3h (GRE{ERSE)
14:05 118 80.0 1.728 E BRige14:05 Bz (GRAERSE)
15:15 118 80.0 1.728 =l RiBe15:15 Bz (REAKESE)
16:25 118 80.0 1.728 E| {Rig016:25 Bzh (RE{ERSE)
21t 1180.0 (10)%) 800. 0 3Z3KEC: 2800.0, PH: 6.5

FEREHLERE S TEIEARTF (68.0 :

ZRIASERRIERES3. 0 ml.

83.0), FIREKRFBERE

FERZERPH (10.64) 5i&5EPH (6.5) REK K, BT
BEXERBIPH (10.64) 5FMPH (6.5) REK K, HRE
[E;&%EC (1658.0 vs 1710) RIK
LRGEBIEC (2819.0) 51REVZEY (2340.0) REK K, BHRE.
LORGEBIPH (10.7) 5i1&EE (6.5) wERK, BRE.
LERGERPH (10.7) S#EBIE (6.5) RERK, BRE.
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500 -
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m e v f
2.0 1 [
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cumET (ml/plant)
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m=385, FV0=0 m=435, FV0=0 m=480, FV0=0

55 5 57.0
. PY M_E —— ME —— ME
55.0 96.5
55.5
54.5 - 56. 0
54.0 55. 5 - 55.0
53.5
55. 0
53,0 - 54.5
54.5
T T T T 52 5 - T T T T T T T T T
400 600 800 1000 385 390 395 435 440 445 480 485 490
m=525,m FV0=0 m=565,m FV0=0 m=605,m FV0=0 m=645,m FV0=0
56.0 —e— ME | 56.0- —o— Mg | 9607 —— ME | 9607 —o— ME
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55. 5
55. 0 55. 0
55. 0
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54.0 54.0
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54.07 53.5 - 53.5 -
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T T T T T T T T T T T T
525 530 535 565 570 575 605 610 615 645 650 655
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- 54.5
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906 908 910 912 955 960 965 1000 1005 1010 400 600 800 1000
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G3-2

BrE) | GEBLATIC (B)) | M= (EH/#K) | EREE (B/R) | X8 R

06:25 85 80.0 1.728 | =| 1Ri%@06:25 Bz (KRAHEREE)
07:20 85 80.0 1.728 F[ BRi%e07:20 Bz (GRAERSE)
08:15 85 80.0 1.728 = {RRiB008:15 Bz (RAKEE)
09:10 85 80.0 1.728 E BRi%e09:10 Bzl (RAERE)
10:05 85 80.0 1.728 5| {Ri%@10:05 B3 (GRAERSE)
11:00 85 80.0 1.728 =l RRiB011:00 Bz (REAEEE)
11:55 85 80.0 1.728 E BRige11:55 Bz (GRAERESE)
13:05 85 80.0 1.728 | =| 1Ri%@13:05 Bzh (RAHERESE)
14:05 85 80.0 1.728 |2 =| 1BRi%e14:05 Bz (kAFEREEE)
15:05 85 80.0 1.728 | =| 1Ri%e15:05 Bz (GRAEREE)
16:10 85 80.0 1.728 (2 =| 1BRige16:10 Bzh (REEREE)
23t+1935.0 (11%) 880.0 3EI3FKEC: 2800.0, PH: 6.5

EREBRE LT (0.55 vs 0.61), AIEER % MAEENEEBEEIKERE

TEREHER E STHEARF (62.0 :

ZRINKPRIEBRE79.0 ml.
FERZEBPH (10.43) 5% EPH (6.46) REIRK, BT
FEREIPH (10.43) 5FPH (6.5 REKK, FHRE
BERSEBIEC (2036.0) H5iZZEEC (2500.0) {REIKK, BHHE
LORGEBIPH (11.4) 51&8EE (6.5) WERK, BFRE.
EORGEBIPH (11.4) S5#AIEN (6.5 RERK, BRE.

79.0), AIBEKFRFERE




G3-2_0, Day=21 (2025-06-02)
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53.
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G3-2
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10:05 86 80.0 1.728 | =| 1Ri%@10:05 Bz (kAEREEE)
12:45 86 80.0 1.728 FE| 1Ri&@12:45 B (REAERSE)
21| 258.0 (3%) 240.0 3203 KEC: 2800.0, PH: 6.5

ERGEBET R IZIETRIEIN (86 vs 114.0))

ZRIASLPRIERE60. 0 ml.

RERSEBIPH (10.4) 5i&EPH (6.42) RERK, HRE
REXRJERIPH (10.4) 5FMPH (6.5 REK K, FHRE
LYREEIEC (2083.0) G EE (2500.0) RERK, BHHRE.
LORGEBIPH (10.5) 5i&EE (6.5) wERKK, BRE.
LERGERPH (10.5) SiRBIE (6.5) RERK, BRE.
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